Division par Puissances de Dix (I)

Trouvez chaque quotient.

8+10°= 32+ 103 =
9+10"1= 88 ~ 10?% =
52 +-10"1= 3102 =
22 = 10°= 11 =102 =
36 -1073 = 27 - 10 =
64 +10° = 95 ~ 103 =
83 - 10° = 64 - 103 =
38 - 10° = 94 -~ 1071 =
53 +107%= 7 210 =

19 +-1071= 58 ~ 10% =
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Division par Puissances de Dix (I) Solutions

Trouvez chaque quotient.

8+10°=8 32 +10°=0,032
9+10"'=90 88 ~ 10% = 0,88
52+10"1=520 3+107%=300
22 +10°=22 11+107%=1100
36 + 1073 =36 000 27 +10' =27
64 + 10° = 64 95 + 10° = 0,095
83 +10°=83 64 + 10° = 0,064
38 +~10° =38 94 + 1071 =940
53+1072=5300 7+10'=0,7

19 +10"1=190 58 +~ 10> =0,58
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